Course: DCE-351-Reinforcement Cement Concrete
Assignment No: 1
Submission Date: 10 November 2016
Instructions:

1. Write the responses to the assignment in your own handwriting.
2. Submit the responses to your HOD with in the due date.
3. Write your name ,programme and enrollment number clearly at the top of the Pages

Q.1

a) What is reinforced cement concrete? Write the merits and demerits of it.

Sefere HiHe shehie T § 2 38 01 IR &Y faf@w.

b) Write the comparison between working stress method and limit state method.

FrIHRT gfdee afer 3 @ fufea fafer & i sk fafee .

Q.2

a) Write the basic assumptions in theory of simple bending in reinforced concrete beams.

Jelfolcl HIHC shshlc EREAT & T gl Sl Hel HehoUaTU fATET.

b) A reinforced concrete beam has size of 260 mm X 600 mm . The tensile reinforcement is

provided of 157 mm? in the bottom of it at the effective cover of 50 mm .If Gcbz 7N/mm? , O,
= 140N/mm” and m =13 then find critical depth and actual depth of neutral axis.

Ueh JaTeld dhshie EeT 260 mm X 600 mm HTT T g | ST dell H 157 mm? delel T&elel 50
mm % 3TaOT R 31T 3T § | AfG O = 7N/mm? , O = 140N/mm? 3R m =13 g af shifas
3R arEaiden s Yo T@I3 AT IS AT i,




Course: DCE-352 —Irrigation Engineering
Assignment No: 1
Due date of submission: 10.11.2016
Instructions:

4. Write the responses to the assignment in your own handwriting.
5. Submit the responses to your HoD within the due date.
6. Write your name, program and Enrollment number clearly at the top of the Page.

Q.1

a) Write the advantages and disadvantages of irrigation system.
Jars gomelr & e 3R gl f@T |

b) Write the comparison between flow and sprinkling irrigation.

yarg [ 3R Reem s & 99 3w [/ |

Q.2

a) Write the classification of soils.
Her3il &1 gaffeor fafge
b) Explain the parts of diversion head work with diagram.

39ade §8 98 & gedh T gHsS.




Course: DCE-353 —Engineering Drawing-11
Assignment No: 1
Due date of submission: 10.11.2016
Instructions:

1. Write the responses to the assignment in your own handwriting.
2. Submit the responses to your HoD within the due date.
3.  Write your name, programme and Enrollment number clearly at the top of the Page.

Q.1

a) Write the Equipment required for engineering drawing.
SSNTIATAT STSIT A FANIT Ble ATl 3TN & IR H faf@w !
b) Find out the area for fig.-1 & 2 in drawing sheet- M2, MM?, Ft?, Yd?

SIS A T TEAT | & 2 & TNV &1l ohY I10TAT hiTTr- et #T, 79t e, 791 $e, a9t e
Q.2

a) Find out the volume for fig. - 3&4 in drawing sheet- M°, Ft’

S1SIT A T AT 3 &4 & T I AT RIS — T 7Y, T e
b) Change following (qﬁ_d'ﬁﬁ Fife): -

12 # - TR 3151, P, A, frat g
21 gAY — a9 To gt Qi g fonelt, gl arer, aet e aat g
18 EeTHY — BT TR B TS, T e

3275

g
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Course: DCE-354 —Surveying-I1
Assignment No: 1
Due date of submission: 10.11.2016
Instructions:

1. Write the responses to the assignment in your own handwriting.
2. Submit the responses to your HoD within the due date.
3. Write your name, programme and Enrollment number clearly at the top of the Page.

Q.1

a) Write the Equipment needed for Plane table survey.
gl HAETUT & TIT 3HTaRTeh 3UHUN & AT ol |

b) Write the merits and demerits of Plane table survey.

qeol FA&TOT o 0T AR &Y faf@v|
Q.2

a) What is Contouring? Write the objectives of contouring.

AT IQGUT T §2 FATIT IW@UT & 327 o Q@T|

b) What is theodolite? Write the main parts of a transit theodolite.

faaEenge #ar &2 dohrT RREiese & Hey 3T fafg|



Course: DCE-355-Transportation Engineering
Assignment No: 1
Submission Date: 10 November 2016
Instructions:

1. Write the responses to the assignment in your own handwriting.
2. Submit the responses to your HOD within the due date.
3. Write your name, program and enrollment number clearly at the top of the Page.

Q:1-

a.  Write the classification of roads according to I.R.C. Explain in briefly.
IR TS I & HoFAR TSI T FfTeh0T FHIA §T Fedeh T Jolet AT 1

b. Write a short note on:-

o<1 X feouufy faf@e-

1. 9auTdr AT Tl (Gradient)
ii. 31 ATt 1T (Design speed)
ii. §TglcTeT (Super elevation)

Q:2-

a. Calculate the Stopping sight distance for a national highway.

Teh ASEIY AT & Torw FRIATT Uk €S gl &l 10Tl ol 1
37TASeTeT 1T (Design speed)= 80 km/h
gfafshar T (Reaction time)= 4 seconds

YT E;I'U'W (friction coefficient)= 0.4

b. Write the reasons of road accident and also explain the Measures to prevent the road accident.

TS GUCAI3N o HROT IR Tseh GHEI3N I Ushat o 39T @ 1



